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Calculer les pourcentages de décimales

Nom:

5,59 x90% =

8,98 x 40% =

2,67 x70% =

8,63 x20% =

7,57 % 20% =

3,31 x30% =

1,67 x 50% =

6, 58 x 90% =

3,43 x40% =

7,93 x 10% =

Date: Note:

0,3 x40% =

8,74 x 80% =

7,358 x40% =

7,69 x 60% =

4,76 x 20% =

7,43 x70% =

4,65 x 50% =

1,64 x 90% =

9,08 x 90% =

9,87 x 10% =
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47T

Calculer les pourcentages de décimales

Nom:

5,59 x90% = 5.031

8,98 x 40% = 3.592

2,67 x70% = 1.869

8,63 x20% = 1.726

7,57 x20% =1.514

3,31 x30% = 0.993

1,67 x 50% = 0.835

6, 58 X 90% = 5.922

3,43 x40% = 1.372

7,93 x 10% = 0.793

Date:

0,3 x40% = 0.12

8,74 x 80% = 6.992

7,358 x40% = 3.032

7,69 x 60% = 4.614

4,76 x 20% = 0.952

7,43 x70% = 5.201

4,65 x 50% = 2.325

1,64 x90% = 1.476

9,08 x90% = 8.172

9,87 x10% = 0.987
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